Oil Spills
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Which do you choose?

Wkhitdedneharz #ikrz #khitxp ehuficieduhodt i Io#/ ik dwthp digiv gd | viei#
fddgxsHirube riglithuihgwihp ryddp hvkrgvithvie dus g { shulp hawigyro/ig T #i#
vip xamhg#rldis lail

Z klfkip hvkrgiz rxeg#] rx#fkrrvhsher#ddg

x|o |1 2 |3 4
xsikhir Idis laB

y |20 175 |15 5 |10

Z kdwthdvravip Ljkw rx#cvhie ool | # rxu

oo

x|10 |1 |2 2

y|20(16




Think About It
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Which 1s best and when?
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Let's discuss.
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Graph it!
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Analyze & Interpret
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Moving On...
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Dining at the Bistro

Table 2 Table 3 Table 4
4 seats 6 seats 8 seats
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o Write the sequence of numbers a1, as, a3, a4,

What value would be in the fifth position

?dg =10

How would you represent the number in the sequence at the 10th position?
Qo
How would you represent the number in the sequence at the nth position?

Jn
What does a,,_; represent?

What is the value of a,,_; whenn = 37




Determine whether each sequence is arithmetic. Write yes or no.
1. 8, -2, -12, =22, 2. —19,-12,-5,2,9
3.1,2,4,8,16 4. 06,09,1.2,1.8, ...

Find the next four terms of each arithmetic sequence.
. 6,18,30, ... 6. 15,6, =3, ...
. —19, —11, =3, ... 8. —26, —33, —40, ...

. FINANCIAL LITERACY Kelly is saving her money to buy a car. She has $250, and she plans
to save $75 per week from her job as a waitress.

a. How much will Kelly have saved after 8 weeks?

b. If the car costs $2000, how long will it take her to save enough money at this rate?




Recursive Formula for Arithmetic Sequence




Ex 1: Write a recursive formula for each
seguence.

d, 6 M3 M; ABOAET /.
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Ex 2: Find the first 5 terms of each seguence.




